3 1 6 S 4 3 fa

@2020 TE Connectivity. ALl Rights Reserved. ‘ REVISTONS
PART P LTR DESCRIPTION DATE DWN | APVD
REV DESCRIPTION
NUMBER I DEVELOPMENT 298EP2022 | LS | GS
2430648~ 1 I [Mini Applicator - LP
1-2430648-1 I |Mini Applicator - LP w/spare parts Kit
[-2430648-7| 1 [Applicator Kif

CRIMP DATA

TERMINAL DESCRIPTION
[HSD 0. 5MMMZ ]

R CRIMP HEIGHT WIRE S1ZE
- - 4X0 . 5mm’
WIRE STRIP LENGTH TERMINAL APPLICATION SPECIFICATION
- | 14-94396
CRIMPER S Sropr Rt | APPLICATOR FEED
CLINCHER? | waxxmm Cxyz in) X f
INSULATION RANGE WIRE RANGE GAUGE
5.80 - 6.20 mm - | 707132~
TERMINALS APPLIED:
SHIELDING ASM PROTECTIVE COVER
2294477~ 2294473~

NOTES:

/I\ RECOMMENDED SPARE PARTS
/2\ GREASE BEARING SURFACES LIGHTLY
/N MAGNET. ITEM 45 MUST BE ORIENTED CORRECTLY

'N ORDER TO PROPERLY ACTUATE THE COUNTER. i l l 2@;ﬁ5f6* EfiéiﬁtémP ?Z
4. UNLESS SPECIFIED OTHERWISE TORQUE i 180321 SCR, SET, FLT PNT, M3 X 5.0 I3
VALUES SHALL BE USED PER DOCUMENT. - l l 2168468-4 PLUNGER, SPRING, INTERNAL HEX, HI ;é
101-35000 - 2432170~ 1 SPACER, TONKER
- 2119740~ | TAG, IDENTIFICATION 61
5. APPLICATOR TO BE USED ON BENCH TERMINATORS -1 212 2168078~ 1 SCREW, DRIVE, RH, RoHS, 2 x .188 66
ONLY . - 1-992946-4 PIN, DOWEL 3 X 8 63
-1 22 18023-2 SCR, SKT HD CAP M3 X 6.0 60
6. RECOMMENDED TERMINATORS: -2 ]2 5018030-2 NUT. HEX, REG, RoHS, M4 57
GI'l TERMINATOR FOR LOOSE PIECE APPLICATORS o 1-18026-0 WASHER, SPRG LOCK, REG M4 56
PN 2374600-1 OR 2374600-2 (W/ CQM) . H N 1-18028-2 WASHER. FLAT. REG M4 55
Gl1+ TERMINATOR FOR LOOSE PIECE APPLICATORS e P A O IS =
PN 28448 10-1 OR 2844810-72 (W/ CQM) . : :
- 122 2168083-8 SCR, SKT HD CAP, RoHS, M4 X 16 57
/1N WHEN WORKING IN THE GI1 OR GIl+ TERMINATOR [P= -] 18023-5 SCR, SKT HD CAP M3 X 12.0 51
THE INSTALLATION OF MICROSWITCH ITEM #46 | %%% - | 2|7 1-18023-2 SCR, SKT HD CAP M4 X 12.0 49
'S NOT NEEDED. THE INSTALLATION OF THE \‘g%% - 1 1707831-7 APPLICATOR GUARD 48
MICROSWITCH IS MANDATORY ONLY FOR OTHER E%\ - 2?7 1707368-1 SPACER, APPL. GUARD 47
TERMINATORS . <§§> " - 2077852~ | APPLICATOR BASIC ASSEMBLY, MINI-LP 46
- 994969- 1 MAGNET, RARE EARTH, HIGH ENERGY 45
- 1707115-1 RAM, MINI APPLICATOR 44
- 1-18028-0 WASHER, FLAT, REG M8 47
- 2-18024-5 SCR, BTN SKT HD CAP (M8 X 20.0) 41
- 17071501 WASHER, FLAT 38
- 2077830~ | WIRE DISC, FINE ADJUST. 37
- 18032-8 SCR, SET, FLT PNT, M6 X 8.0 36
- 690191 -1 PLUG, NYLON 35
- 9-18023-4 SCR, SKT HD CAP M3 X 35.0 33
- 17077791 KNOB 37
-1 44 18023-6 SCR, SKT HD CAP M3 X 16.0 31
- 1-624887- 1 APPLICATOR GUARD 30
- 17078257 GUIDE BLOCK - 29
- 1-9937111-0 PIN, SLOTTED SPRING 1.5 X 10.0 20
-1 313 18023-3 SCR, SKT HD CAP M3 X 8.0 18
- 2076888 | REAR APPLICATOR GUARD 17
- 18023-5 SCR, SKT HD CAP M3 X 12.0 16
N 2430425 | SPECIAL ANVIL, MINI LP 8
N T2 2430426 | SPECIAL CRIMPER, MINI LP |
77 71] -1 PART NO DESCRIPTION L)
THIS DRAWING IS A CONTROLLED DOCUMENT. DWLN.SANDHU 295EP2022 —-TE o
DIMENSIONS: TOLERANCES UNLESS CH{SANDHU EQSEPEOZE — y
' OTHERWISE SPECIFIED: APVD 29SEP2022 | NAME
- o G STEGUAYER LOOSE PIECE MINI APPLICATOR
@GZ% EEE %E ArPLICATION SPEE SIZE CAGE CODE |DRAWING NO RESTRICTED TO
MATER I AL . FINISH ) WEIGHT . A ‘ 00779 @:2430648
- - CUSTOMER ACCESSIBLE PRODUCTION DRAWING SCALE g g | SHEET R L

4805 (3/13)
Downloaded From | Oneyac.com



https://www.oneyac.com

B NE AR EN, AT, SRR A ISR E B

Downloaded From | Oneyac.com


https://www.oneyac.com/brand/1062.html
https://www.oneyac.com

	Blatt 1
	Ansichten
	new_view_1


	>>TE Connectivity(泰科)

